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Unit I 

 

Q1. Tirupati Ltd. invited applications for 1,00,000 of its Equity Shares of ₹100 each at a 

premium of ₹20 per share, payable ₹30 on application, ₹70 on allotment including premium and 

the balance on first and final call. 

   Applications for 1,25,000 shares were received, it was decided to (a) refuse allotment to the 

applicants for 5,000 shares; (b) allot in full to applicants for 20,000 shares; (c) allot the balance 

of available shares pro-rata among the other applicants; and (d) utilise the excess application 

money in part payment of allotment money. 

  Mr. Ram holding 1000 shares to whom shares had been allotted on pro-rata basis failed to pay 

the amount due on allotment and call and Mr. Shyam holding 500 shares to whom full allotment 

was made, failed to pay the amount due on call only, these shares were forfeited.  

  800 forfeited shares of Mr. Ram and 200 forfeited shares of Mr. Shyam were reissued at a 

discount of ₹10 per share to Mr. Krishna. Show the necessary Journal Entries including cash in 

the books of Tirupati Ltd.  



                  ₹ 100          1,00,000                    ₹20                         

                   ₹30             , ₹70          (           )                      

                      

1,25,000                              ,                      ( ) 5,000                     

                             ; ( ) 20,000                                         ; ( )     

                                     ;     ( )                                     

                               

                  1,000                                      ,                                

                                             500                   ,                         

   ,                                                              800                       

                200                               ₹ 10                                    

                                                                 
 

                                                             OR 

 

Q2. Goyal Ltd. had issued 5,000 Redeemable Preference Shares of ₹100 each fully called, due 

for redemption at a premium of 10%. The following balances appeared in the books of the Co.: 

 

                ₹ 100      5,000                                                         

             , 10%                                                         
 

Redeemable Preference Share Capital.                                         5,00,000 

Calls in Arrear (Redeemable Preference Shares)                             10,000 

General Reserve.                                                                            3,40,000 

Securities Premium.                                                                          40,000 

Foreign Project Reserve.                                                                2,00,000 

It is ascertained that: 

Calls-in-arrear are on account of final call on 500 shares held by four members whose where 

abouts are not known. ₹50,000 of the Foreign Project Reserve is free for distribution as 

dividends. Balance of General Reserve is to be utilised for the purpose of redemption and the 

shortfall is to be made good by issue of Equity Shares of 10 each at par. The redemption of 

preference shares was duly carried out. You are required to give the journal entries and show 

how these items will appear in Company's Balance Sheet after redemption. 

                                            500                                        

                                                   ₹50,000                                    

                                         औ         ₹ 10                       -    

                                                                   
 

   Unit II 

 

Q3.Shah Ltd. issued 10,00,000 12% debentures at 10% discount on 1-4-2018 and decided to 

redeem debentures out of profits in two equal instalments on 31.3.2022 and 31.3.2023. It was 

also decided to transfer the required amount to Debenture Redemption Reserve in four equal 

instalments starting with 31st March, 2019. The company invested the required amount in Govt. 



Securities on 30th April, 2021. Pass journal entries for issue and redemption of debentures. 

Ignore interest paid on debentures. 

               1.4.2018    ₹ 10,00,000    12%      10%                              

31.3.2022     31.3.2023                                                               

                                                       31     , 2019              

                                                          30     , 2021           

                                                                                          

                                          
 

                                                                 OR 

 

Q4. What do you understand by Underwriting of shares and debentures? Explain the Provisions 

of the Companies Act, 2013 regarding Payment of Underwriting Commission. Also explain the 

meaning of Co-underwriting and Firm Underwriting.  

                                             ?                                  

            , 2013                      -                                     

          

 

Unit III 

 

Q5. Write short note on Managerial Remuneration. 

                                         
 

OR 

 

Q6. a) A limited company having a paid-up capital of ₹ 5,00,000 in equity shares of 10 each, had 

a General Reserve of ₹ 90,000. It was resolved to capitalize ₹50,000 out of General Reserve by 

issuing 5,000 fully paid bonus shares of 10 each. 

(b) A limited company with a subscribed capital of₹ 1,00,000 in equity shares of ₹ 10 each had 

called up 7.50 per share. A bonus of ₹ 50,000 was declared out of surplus for making the existing 

equity shares fully paid up and the balance was paid in cash. 

(c) A limited company with a paid up capital of 80,000 in shares of ₹ 5 each declared a bonus of 

₹30,000 out of Capital Redemption Reserve Account payable in fully paid up equity shed a of 

2.50 share. 

Pass Journal entries in the above three cases. 

 

( ) ' '                          ₹5,00,000          ₹ 10      50,000                   ,        

              ₹ 90,000                          ₹50,000                  ₹ 5,000      

                          

( ) ' '                        ₹10                    ₹ 1,00,000                  ₹ 7.50       

        ₹50,000                                                                        

                                             



( ) ' '                          ₹5                      ₹ 80,000             ₹ 30,000      

                                                 ₹5                                  ₹2.50 
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Advanced Business Statistics 

Assignment March, 2025 

Max. Marks: 10 
Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3 

Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation 

छात्रों के लिए निरे्दश: असाइनमेंट में 6 प्रश्न हैं। छात्रों को 3 प्रश्न के उत्तर देना आवश्यक है (प्रत्येक इकाई स े1 
प्रश्न)। अच्छी प्रस्तुतत के साथ कम स ेकम 500 शब्दों में उत्तर लऱखें। 

Section A ([k.M v) 

Q.1 What is Graphical Representation? Explain the different Forms of Graphical Representations. 

रेखाचित्रीय तनरूऩण क्या है? रेखाचित्रीय तनरूऩण के ववलिन्न रूऩों की व्याख्या करें। 
4 

   

Q.2 Calculate consumer price index number for 2025 on the basis of 2024, using (i) Aggregate 

Expenditure Method and (ii) Family Budget Method: 

(i) समग्र व्यय ववचध और (ii) ऩाररवाररक बजट ववचध का उऩयोग करके, 2024 के आधार ऩर 2025 के लऱए 

उऩिोक्ता मूल्य सूिकाांक की गणना करें: 
Article Quantity Unit Price 2024 Price 2025 

Wheat 

Rice 

Pulses 

Sugar 

Salt 

Oil 

Clothing 

Fuel 

House 

2 Quintal 

1 Quintal 

20 Kg. 

50 Kg. 

10 Kg. 

10 Kg. 

20 Meters 

4 Quintal 

One House 

Quintal 

Quintal 

Kg. 

Kg. 

Quintal 

Kg. 

Meters 

Quintal 

Per House 

100 

160 

1.20 

2.00 

40 

6 

3 

16 

40 

200 

220 

2.80 

3.00 

60 

12 

5 

20 

60 
 

 

4 

   

Section B ([k.M c) 

Q.3 Write short notes on the following: 

a) Venn Diagrams 

b) Empty Set 

c) Finite and Infinite Sets 

तनम्नलऱखखत ऩर सांक्षऺप्त टटप्प्णयाां लऱखखयें: 
अ) वेन आरेख 
ब) ररक्त समुच्िय  
स) ऩररलमत और अऩररलमत समुच्िय 

3 

   

Q.4 Based on the following product related data determine the straight line trend and find the trend 

value for 2025: 

नीि ेटदए गये उत्ऩादन सम्बप्न्धत समांकों के आधार ऩर सरऱ रेखा उऩनतत तनप्श्ित कररए एवां 2025 का उऩनतत 

मान ऻात कीप्जए: 

Year 2017 2018 2019 2020 2021 

Production 8 9 8 9 16 
 

 

3 

   



Section C ([k.M l)  

Q.5 a) In how many ways a team of 11 players can be formed out of 15 players? 

15 खखऱाड़ियों में स े11 खखऱाड़ियों की एक टीम ककतन ेतरीकों स ेबनाई जा सकती है? 

b) How many permutations can be made from the following words? 

तनम्नलऱखखत शब्दों से ककतन ेक्रमिय बनाये जा सकत ेहैं? 

(i) PROBABILITY and (ii) DAUGHTER 

3 

   

Q.6 The profit for different year of life insurance company are given below: 

जीवन बीमा कां ऩनी का ववलिन्न वषों के ऱाि नीि ेटदया गया है: 

Year 2005 2010 2015 2020 

Profit (in Rs. ’000) 30.06 39.12 42.81 48.38 

Calculate the expected profit for the year 2011. 

वषष 2011 के लऱए अऩेक्षऺत ऱाि की गणना कीप्जए। 

3 
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B. Com. (EAFM Honrs.) / B. Com (Pass) / Subsi. – II Sem 

MANAGERIAL ECONOMICS 

Assignment March 2025 
Instructions to Students: Assignment consist of 6 questions. Students are required to 

attempt 3 Questions (1 from each Unit). Write questions in at least 500 Words with 

good presentation. 

छात्रों के लिए लनदशे: असाइनमेंट में 6 प्रश्न हैं। छात्रों को 3 प्रश्नों का उत्तर दनेा आवश्यक ह ै(प्रत्येक 

इकाई से 1 प्रश्न)। प्रत्येक उत्तर में कम से कम 500 शब्द होने चालहए और इसे अच्छी प्रस्तुलत के साथ 

लिखें। 

 

Section A 

1. Explain the Role of business economics in formulation of business policies. 

व्यावसालयक नीलतयों के लनमााण में व्यावसालयक अथाशास्त्र की भूलमका की व्याख्या करें। 

                                                OR 

2. What is Monopoly? How is price and output determined under monopoly in 

shortrun and long run? 

एकालधकार क्या ह?ै एकालधकार के अन्तगात दीघाकाि मा अल्पकाि से कम उत्पादन लनधाारण 

ककस प्रकार होता ह?ै  

 

Section B 

3. Describe the marginal productivity theory of distribution. 

लवतरणकेसीमाांतउत्पादकतालसद्ाांतकावणानकरें। 

OR 

4. Critically evaluate the theories of Interest. 

ब्याजकेलसद्ाांतोंकाआिोचनात्मकमूल्याांकनकरें। 

 

Section C 

5. Define national income? What are the problems faced in estimating National 

Income. 

राष्ट्रीयआयकोपररभालषतकरें? राष्ट्रीयआयकाअनुमानिगानेमेंक्यासमस्याएआँतीहैं। 

OR 

6. Explain the measures to check business cycle. 

व्यापारचक्रकोलनयांलत्रतकरनेकेउपायोंकीव्याख्याकीलजए। 
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B.Com. / B. Com. ABST IV Semester 
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Methods and Techniques of Costing 

Assignment March, 2025 

Max. Marks: 10 
Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3 

Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation 

छात्रों के लिए निरे्दश: असाइनमेंट में 6 प्रश्न हैं। छात्रों को 3 प्रश्न के उत्तर देना आवश्यक है (प्रत्येक इकाई स े1 
प्रश्न)। अच्छी प्रस्तुतत के साथ कम स ेकम 500 शब्दों में उत्तर लऱखें। 

Section A ([k.M v) 

Q.1 What is a Contract Costing? What are the different methods of calculating profit on an 

incomplete contract? 

ठेका ऱगत ऱेखाॊकन क्या है? अऩूर्ण ठेके ऩर ऱाभ की गर्ना के ववलभन्न ववधधयाॉ क्या हैं? 

 

4 

   

Q.2 Prabhat Transport Company supplies the following details in respect of a truck of 10-tonne 

capacity:  

प्रभात ट्ाॊसऩोटण कम्ऩनी द्वारा एक 10 टन ऺमता वाऱे ट्क के सॊबॊध में तनम्नलऱखखत वववरर् प्रस्तुत है: 

Cost of truck. 

Diesel, oil, grease  

Repairs and maintenance  

Driver's wages  

Cleaner's wages  

Insurance  

Road tax etc.  

General Supervision charges 

Rs. 18,00,000, estimated life 10 years. 

Rs. 300 per trip each way.  

Rs. 10,000 per month. 

Rs. 10,000 per month  

Rs. 5,000 per month.  

Rs. 96,000 per year.  

Rs. 48,000 per year.  

Rs. 96,000 per year. 

The truck carries goods to and from the city covering a distance of 50 kms. each way. On 

outward trip freight is available to the extent of full capacity and on return trip 20% of 

capacity. Truck run on average 25 days in a month. Work out (i) operating cost per tonne-

km., and (ii) rate per tonne per trip that the company should charge if a profit of 33 1/3 % 

on freight is to be earned. 

ट्क द्वारा 50 ककऱोमीटर की दरूी तय करके शहर से सामान ऱेकर आता-जाता है। माऱ ऱे जान ेऩर ऩूर्ण 
ऺमता का ककराया प्राप्त होता है, जबकक वाऩसी ऩर 20% ऺमता का ही ककराया लमऱता है। ट्क महीन ेमें 
औसतन 25 ददन चऱता हैं। ऻात कीजजए: (i) प्रतत टन ककऱोमीटर ऩररचाऱन ऱागत, और (ii) प्रतत टन की 
प्रतत दट्ऩ दर जजस ऩर कॊ ऩनी ककराये की रालश ऩर 33 1/3% का ऱाभ अजजणत करती है। 

 

4 

   

Section B ([k.M c) 

Q.3 Write short notes on the following: 

तनम्नलऱखखत ऩर सॊक्षऺप्त दटऩण्र्ी लऱखखए: 

a) Cash Budget (रोकड़ बजट) 
b) Material Purchase Budget (सामग्री क्रय बजट) 

1.5x2 

   

Q.4 A product passes through three distinct processes to completion. 10,000 units were 

introduced (valued at Rs. 50,000) in Process A. Following expenses were incurred: 

एक उत्ऩाद ऩूरा होन ेतक तीन अऱग-अऱग प्रकक्रयाओॊ स ेगुजरता है। प्रकक्रया ए में 10,000 इकाइयाॊ (मूल्य 

50,000 रुऩये) ऱगाई गईं। तनम्नलऱखखत खचण ककए गए: 

 

3 



 Process A Process A Process A 

Machine Expenses 

Labour 

Direct Expenses 

Normal Wastage 

Scrap Value Per Unit 

Actual output (units) 

Rs. 5,000 

Rs. 20,000 

Rs. 11,000 

5 % 

Rs. 1.00 

9,000 

Rs. 4,000 

Rs. 30,000 

Rs. 16,400 

10 % 

Rs. 2.00 

8,000 

Rs. 3,000 

Rs. 25,000 

Rs. 4,600 

5 % 

Rs. 2.50 

7,700 

Prepare Process Accounts showing the cost of output and the cost per unit at each stage of 

manufacture along with Normal Wastage Account, Abnormal Wastage Account and 

Abnormal Effectives Account. 

सामान्य अऩव्यय खात,े असामान्य अऩव्यय खात ेऔर असामान्य ऱाभ खात े के साथ-साथ तनमाणर् के 

प्रत्येक चरर् में उत्ऩादन की ऱागत और प्रतत यूतनट ऱागत को दशाणन ेवाऱे प्रकक्रया खात ेतैयार करें। 
   

Section C ([k.M l)  

Q.5 Shree Cement Ltd. produces the following informations: 

श्री सीमेंट लऱलमटेड तनम्नलऱखखत जानकारी प्रस्तुत करता है: 

Maximum Capacity per annum 

Normal Capacity per annum 

Variable manufacturing cost per unit 

Fixed factory cost 

Fixed selling and distribution cost 

Variable selling and distribution cost 

Sale price per unit 

4,40,000 units 

3,60,000 units 

Rs. 2.20 

Rs. 1,08,000 

Rs. 50,400 

Rs. 0.60 

Rs. 4.00 

Calculate: 

a) Break-even point, P/V ratio and margin of safety. 

b) Number of units to be sold to earn a profit of Rs 36,000 in a year. 

c) Sales value needed to earn a profit of 10% on sales. 

d) Selling price per unit to bring down BEP to 1,00,000 units to a product. 

ऻात करें: 
ए) समववच्छेद बब ॊद,ु ऱाभ मात्रा अनुऩात और सुरऺा सीमा। 
बी) एक वषण में 36,000 रुऩये का ऱाभ अजजणत करन े के लऱए बेची जान ेवाऱी इकाइयों की सॊख्या। 
स) बबक्री ऩर 10% का ऱाभ अजजणत करन ेके लऱए आवश्यक ववक्रय की रालश। 
द)  1,00,000 इकाइयों ऩर सैम-ववच्छेद बब ॊद ुउऩऱब्ध करन ेके लऱए प्रतत इकाई ववक्रय मूल्य। 

3 

   

Q.6 Calculate material variance from the following data: 

तनम्नलऱखखत वववरर् से सामग्री ववचरर्ों की गर्ना कीजजए: 

Material 

Standard Actual 

Quantity 

(Kg.) 

Price 

(Rs.) 

Quantity 

(Kg.) 

Price 

(Rs.) 

A 

B 

100 

200 

20 

17 

215 

385 

18 

20 

 

Less: Loss 

300 

30 

 

 

600 

70 
 

Output 270  530  

 

 

3 
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B. Com. ABST IV Semester 

23ABS-6453T 

Quantitative Techniques 

Assignment March, 2025 

Max. Marks: 10 
Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3 

Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation 

छात्रों के लिए निरे्दश: असाइनमेंट में 6 प्रश्न हैं। छात्रों को 3 प्रश्न के उत्तर देना आवश्यक है (प्रत्येक इकाई स े
1 प्रश्न)। अच्छी प्रस्तुतत के साथ कम से कम 500 शब्दों में उत्तर लऱखें। 

Section A ([k.M v) 

Q.1 What do you understand by Quantitative Techniques? Explain the role and limitations of 

Quantitative Techniques. 

ऩररमाणात्मक प्रववधधयों स ेआऩ क्या समझत ेहैं? ऩररमाणात्मक प्रववधधयों की भूलमका और सीमाओॊ की 
व्याख्या कीजजए। 

4 

   

Q.2 Solve the following linear programming problems: 

तनम्न रैखखक प्रोग्रामन की समस्या को हऱ कीजजए: 

Max.                 Z= 6x1 + 4x2 

Subject to:          x1 + 2x2  ≤  720 

2x1 + x2   ≤  780 

x1 ≤  320 

x1, x2 ≥  0 

4 

   

Section B ([k.M c) 

Q.3 a) What are the characteristics of assignment problem? 

अधधन्यासन समस्या की ववशषेताएॉ क्या हैं? 

b) Explain the similarities and difference between transport problem and an assignment 

problem. 

ऩररवहन समस्या और अधधन्यासन समस्या के बीच समानता एवॊ अॊतर स्ऩष्ट कीजजए। 

1.5 

 

 

1.5 

   

Q.4 Solve the following assignment problem: 

तनम्नलऱखखत अधधन्यासन समस्या को हऱ कीजजए: 

Operators 
Jobs 

W X Y Z 

A 12 10 10 8 

B 14 12 15 11 

C 6 10 16 4 

D 8 10 9 7 
 

3 

   

Section C ([k.M l) 

Q.5  Explain the significance of Programme Evaluation and Review Technique (PERT) and 

Critical Path Method (CPM) to a  manager? Also explain the limitations of  PEART and 

CPM. 

प्रबॊधक के लऱए काययक्रम मूलयाॊकन एवॊ समीऺा तकनीक (ऩाटय) और चरम ऩथ ववधध (सीऩीएम) की महत्ता 
का वणयन कीजजए। ऩाटय और सीऩीएम की सीमाओॊ का भी वणयन कीजजए। 

 

 

3 



   

Q.6 The following information is given regarding a project: 

तनम्नलऱखखत सूचनाएॉ एक ऩररयोजना स ेसम्बॊधधत दी गई है: 
Activity 1-2 1-3 2-4 3-4 2-6 4-5 4-6 5-7 6-7 

Duration (in 

Weeks) 
6 4 7 6 5 6 9 2 4 

a) Draw the network diagram for the project.  

b) Calculate the expected length of critical path.  

c) Calculate the different types of floats.  

ए) ऩररयोजना के लऱए नेटवकय  आरेख बनाएॊ।  
स) क्राॊततक ऩथ की अऩेक्षऺत ऱॊबाई की गणना कीजजए।  
द) ववलभन्न प्रकार की ढीऱ की अवधधयों की गणना कीजजए।  

3 

 



S. S. Jain Subodh PG College, Jaipur 

B.Com. BADM Sem. IV 

Retail Management 

ASSIGNMENT March, 2025 

 

Instructions to Students: Assignment consist of 6 questions. Students are required to attempt 
3 Questions (1 from each Unit). Write questions in at least 500 Words with good 
presentation. 

छात्रों के लऱए ननदेश: असाइनमेंट में 6 प्रश्न हैं। छात्रों को 3 प्रश्नों का उत्तर देना आवश्यक 
है (प्रत्येक इकाई से 1 प्रश्न)। प्रत्येक उत्तर में कम से कम 500 शब्द होने चाहहए और इसे 
अच्छी प्रस्तुनत के साथ लऱखें। 
 

Unit-I 

 

Q. 1: What do you understand by Retailer? Describe the various functions performed by a 

Retailor. 

ररटेऱर से आऩ क्या समझते हैं? एक खदुरा ववके्रता द्वारा ननष्ऩाहदत ववलिन्न कायों 
का वर्णन करें। 

 

Q. 2: Explain the different types of retailors with Examples. 

ववलिन्न प्रकार के खदुरा ववके्रताओं को उदाहरर् सहहत समझाइए। 
 

Unit -II 

 

Q. 3:  What are the various factors a retailor would consider in order to locate the store. 

एक खदुरा ववके्रता स्टोर का ऩता ऱगाने के लऱए ककन ववलिन्न कारकों ऩर ववचार 
करेगा। 

 

Q. 4: What is Pricing? Explain the different methods of pricing of a product. 

मूल्य ननधाणरर् क्या है? ककसी उत्ऩाद के मूल्य ननधाणरर् के ववलिन्न तरीकों की 
व्याख्या करें। 

 

 

Unit- III 

 

Q. 5: How does stock and inventory management contribute to the overall efficiency and 

Profitability of retail business? Explain 

स्टॉक और इन्वेंट्री प्रबंधन खदुरा व्याऩार की समग्र दऺता और ऱाि प्रदता में कैस े
योगदान देता है? व्याख्या करना। 

 

Q. 6: What are major problems faced by the retail sector in india ? Explain in detail. 

िारत में खदुरा ऺेत्र के सामने प्रमुख समस्याएं क्या हैं? ववस्तार से व्याख्या। 



S.S. Jain Subodh P.G. College, Jaipur 

B.Com (EAFM Hons.) / B.com (Pass) - IV Sem 

International Trade and Finance 

Assignment March 2025 
Instructions to Students: Assignment consists of 6 questions. Students are required to attempt 3 
Questions (1 from each Unit). Write questions in at least 500 Words with good presentation. 

छात्रों के लऱए ननदेश : असाइनमेंट में 6 प्रश्न हैं। छात्रों को 3 प्रश्नों का उत्तर देना आवश्यक है 
(प्रत्येक इकाई से 1 प्रश्न)। प्रत्येक उत्तर में कम से कम 500 शब्द होने चाहहए और इसे अच्छी 
प्रस्तुनत के साथ लऱखें। 

 

Unit - I 

Q. 1: Explain the Modern Theory of International Trade. 

अतंरराष्ट्रीय व्याऩार का आधनुनक लसद्ांत समझाइए। 
Q. 2: Discuss Comparative Cost Theory in detail with examples. 

तुऱनात्मक ऱागत लसद्ांत का ववस्ततृ वर्णन उदाहरर् सहहत करें।                                                  

 

Unit - II 

Q. 3: Describe the objectives and functions of the Bretton Woods Institutions.  

ब्रेटन वुड्स संस्थाओं के उदे्दश्यों और कायों का वर्णन करें। 

Q. 4: What is the role of the World Trade Organization (WTO) in international trade?   

अतंरराष्ट्रीय व्याऩार में ववश्व व्याऩार संगठन (WTO) की भूलमका क्या है?   
 

Unit – III 

Q. 5: Discuss the significance of the Euro-Currency Market. 
यूरो-मुद्रा बाजार के महत्व ऩर चचाण करें। 

Q. 6: What is Documentary Credit? Explain its types and significance in international trade. 
दस्तावेजी के्रडडट क्या है ? इसके प्रकार और अतंरराष्ट्रीय व्याऩार में इसके महत्व को 
समझाइए।           

 

 

 



S S JAIN SUBODH PG (AUTONOMOUS) COLLEGE, JAIPUR 

B. Com (Hons.) ABST VI Semester 

Assignment March 2025 

Goods and Services Tax 

 __________________________________________________________________________ 

Instruction to the Candidates: Assignment consists of six questions. Students are required 

to answer any three questions. 

अभ्यर्थियों को निदेश: असाइिमेंट में छह प्रश्ि हैं। छात्रों को ककनहहीं तीि सवालों के जवाब 
देिे होंगे। 
__________________________________________________________________________________________________ 

 

Unit 1 

 

Q. 1: What is the procedure of registration according to CGST Act? Also explain rules 

regarding registration procedure. 

सीजीएसटी अधधननमभ के अनुसाय ऩंजीकयण की प्रक्रिमा क्मा है? ऩंजीकयण प्रक्रिमा के 
संफंध भें ननमभ बी फताएं। 
 

Q. 2: The following are details of purchases, sales etc in month of April 2022 effected by Mr 

Y a registered manufacturer under SGST Act 2017 

एसजीएसटी अधधननमभ 2017 के तहत एक ऩंजीकृत ननभााता श्री वाई द्वाया अप्रैर 
2022 के भहीन ेभें की गई खयीद, बफिी आदद का वववयण ननम्नलरखखत है: 
1. Purchased Raw Material “X” interstate Rs 200000(excluding GST @ 18%) 

2. Purchased Raw Material “Y” from local dealer Rs 100000(excluding GST @ 12%) 

3. Purchased Capital Goods from UP to be used in office Rs 400000 + 12% rate of 

Depreciation @25% 

4. Other direct and indirect expenses Rs 90000 (inclusive of local GST Rs 10000) 

5. Profit Margin 25% on sales price. 

6. 20% of Production is unsold  

7. Applicable GST Rate is 18% 

8. Half of goods sold Interstate. 

Calculate the amount of GST payable. 

देम जीएसटी की यालि की गणना कयें। 
 

Unit 2 

 

Q. 3: Explain that whether following persons of Rajasthan may adopt simplified scheme of 

service providers or not? If they are having any other alternative then consider it. Find 

tax liability of all persons by showing aggregate turnover as well as taxable turnover 

from the given information. 

फताइए क्रक क्मा याजस्थान के ननम्नलरखखत व्मक्क्त सेवा प्रदाताओं की सयरीकृत 
मोजना को अऩना सकते हैं मा नहीं? मदद उन के ऩास कोई अन्म ववकल्ऩ है तो उस 
ऩय ववचाय कयें। दी गई जानकायी स ेकुर कायोफाय के साथ – साथ कय मोग्म कायोफाय 
ददखा कय सबी व्मक्क्तमों की कय देमता ज्ञात कीक्जमे: 
Turnover of Goods and Services during financial Year 2021-22 

S. No Particulars A B C D 

1 Turnover of Taxable Goods 6 10 1 35 

2 Turnover of taxable Services 21 20 7 3 

3 Turnover of Exempted goods 9 6 5 12 

4 Exempted interest and discount on deposits, loans and 8 5 2 1 



advances 

5 Turnover of exempted services other than 4 4 9 2 1 

6 Services subject to RCM @ 12% 11 10 2 4 

 Total turnover 59 60 19 56 

 

Q. 4: Mention goods exempted from tax and services exempted from tax according to 

notifications other than services exempted in Notifications 12. 

कय भुक्त भार औय अधधसूचना 12 के अरावा अन्म घोषणाओ ंभें कय भुक्त सेवाओ ंका 
उल्रेख कयें। 

 

Unit 3 

 

Q. 5: What do you understand by Input Tax Credit? Explain about its eligibility and 

conditions for taping Input Tax Credit. 

इनऩुट टैक्स िेडिट से आऩ क्मा सभझते हैं? इनऩुट टैक्स िेडिट ऩय टैऩ कयने के लरए 
इस की ऩात्रता औय ितों के फाये भें फताएं। 
 

Q. 6: Ashish electrical made a total sales of 500000 at a tax rate of 18% (CGST@ 9% and 

SGST@ 9%) in the month of October 2022. The firm made following expenditures 

आिीष इरेक्क्िकर ने अक्टूफय 2022 के भहीन ेभें 18% (CGST @ 9% औय  SGST @ 

9%) की कय दय ऩय कुर 5,00,000 की बफिी की। पभा ने ननम्नलरखखत व्मम क्रकए 

Particulars Rs Rate 
CGST 

9% 

SGST 

9% 
IGST Total 

Electrical Stock 300000 18% - - 54000 54000 

Restaurant bill for food to 

foreign clients 
10000 18% 900 900 - 1800 

Gymnasium fee for 

manager Mr Rajat 
10000 18% 900 900 - 1800 

Free samples 10000 18% 900 900 - 1800 

ITC not allowed 30000 - 2700 2700 - 5400 

Printing and stationery 10000 18% 900 900 - 1800 

Mobile bill for office 800 18% 72 72 - 144 

ITC available 10800 - 972 972 - 1944 

What would be his tax liability?  

उसकी कय देनदायी क्मा होगी? 
 

 

 



 
 

S. S. Jain Subodh P. G. College Jaipur 

ASSIGNMENT – March-2025 

B. Com Hons. (ABST) -Semester- VI 

Advanced Accounting 

Instruction to the students: The assignment consists of 6 major questions. Students are required 

to answer any 3 questions 

fo|kfFkZ;ksa ds fy;s funsZ”k% vlkbuesaV esa N% izeq[k iz”u gS fo|kfFkZ;ksa dks fdUgha rhu iz”uksa dk mRrj nsuk vko”;d gSA 

 

Section- A 

1. The Balance Sheet of X Ltd. as at 31
st
 March, 2024 was as follows: 

 31 ekpZ] 2025 dks ,Dl fyfeVsM dk fpëk bl izdkj gSA 

Balance Sheet 

Particular  Amount  

I. EQUITY AND LIABILIITES  

(1) Shareholders’ Fund: 

(a)  Share Capital  

64,000 6% Preference Shares of Rs.10 each fully paid 

            1,92,000 Equity Shares of Rs.5 each fully paid   

      (b)  Reserve and Surplus                                                                   

General Reserve                                                                  3,200 

 Profit and Loss a/c                                                      ( 2,88,000) 

(2) Non-Current Liabilities 

(a)Long-Term Borrowings 

5% Debentures  

(3) Current Liabilities 

      (a)  Trade Payables 

            Sundry Creditors   

                                                                                                Total 

II. ASSETS  

  Non-Current Assets  

 (a)  Fixed Assets  

        (i)  Tangible Assets  

               Land and Building  

               Plant and Machinery 

        (ii)  Intangible Assets  

               Goodwill  

      (2)  Current Assets  

            (a)  Inventories  

 

(b)  Trade Receivables: 

                   Bills Receivable  

                   Debtors 

(c)  Cash and Cash Equivalents  

                   Cash                                                                                                                             

                                                                                           Total   

` 

 

 

6,40,000 

9,60,000 

 

 

(2,84,800) 

 

 

3,84,000 

 

 

6,40,000 

23,39,200 

 

 

 

 

7,68,000 

7,20,000 

 

4,48,000 

 

1,28,000 

 

 

64,000 

1,92,000 

 

19,200 

23,39,200 



 
 

 

Upon revaluation of the assets, it was found that goodwill was worthless and that other 

assets were overvalued to the following extent- 

Land and Buildings by Rs.1,28,000 and Plant & Machinery by Rs.1,76,000. 

A provision for doubtful debts to the extent of Rs.16,000 were necessary.  

The following scheme of reorganization was sanctioned by tribunal on April 1, 2019. 

(a)   The creditors to accept 6% debentures to the extent of 50 per cent of  their claims, 

 the balance to be paid in cash six months after the date.  

(b)   The preference shares to be reduced to Rs.5 each, partly paid up. 

(c)   The equity shares to be reduced to Rs.1 each, partly paid up.  

(d)   The assets to be reduced to revalued figures and the debit balance of  Profit & Loss      

        Account to be wiped out.   

Draft journal entries to give effect to the above scheme and prepare the revised Balance 

Sheet of the company.  

lEifÙk;ksa ds iquewZY;kadu djus ij ;g Kkr gqvk fd [;kfr dk ewY; 'kwU; gS vkSj vU; lEifÙk;k¡ fuEufyf[kr 

lhek rd vf/kd ewY;kafdr dh gqbZ gSA 

Hkwfe ,oa Hkou #-1]28]000 ls] IykUV ,oa e”khujh #- 1]76]000 lsA lafnX/k _.kkksa ds fy;s #-16]000 dk vk;kstu 

vko”;d le>k x;k gSA 

1 vizsy] 2019 dks iqufuZekZ.k dh ;kstuk] tks fVªC;quy }kjk Lohdkj dh xbZ] og fuEu izdkj gSA 

¼v½ ysunkjksa us vius nkoksa ds 50 izfr”kr ds fy;s 6 izfr”kr _.k&i= ysuk Lohdkj fd;k] 'ks"k jkf”k dk bl 

frfFk ds 6 ekg i'pkr~ udn esa Hkqxrku fd;k tkosxkA 

¼c½ izR;sd iwokZf/kdkj va”k dks #- 5 rd de djuk gS] va”kr% iznÙkA 

¼l½ izR;sd bZfDoVh va”k dks # 1 rd de djuk gS] va”kr% iznÙkA 

¼n½ lEifÙk;ksa dks iqueZwY;kafdr vadksa rd de djuk gS RkFkk ykHk&gkfu [kkrs ds MsfcV 'ks"k vifyf[kr djuk 

gSAmDr ;kstuk dks izHkkoh cukus ds fy;s tuZy izfof"V;k¡ nhft, rFkk dEiuh dk la’kksf/kr fpëk cukb,A 

 

2. What do you understand by 'purchase consideration'? how is it ascertained? What journal 

entries are passed in the books of purchasing in the books of purchasing company for the 

purchase of business and payment of purchase consideration? 

^dz;&izfrQy^ ls vki D;k le>rs gSa\ ;g dSls fu/kkZfjr fd;k tkrk gS\ dzsrk dEiuh dh iqLrdksa esa O;kikj dks 

[kjhnus ,oa dz;&izfrQy ds Hkqxrku djus ds fy, D;k tuZy izfof"V;k¡ dh tkrh gSa\ 

 

Section- B 

3.  XY Ltd. is formed to take over X Ltd. and Y Ltd. for Rs.5,00,000 and Rs.2,50,000 

payable in Equity shares of Rs.10 each. The balance sheets of two companies are give 

below: 

 ,Dl okbZ fyfeVsM dh LFkkiuk ,Dl fy- o okbZ fy- dks ysus ds fy, gqbZ ftUgsa #- 5]00’000 o #- 2]50]000 ds 

#- 10 okys bZfDoVh va”k fn;s tk;saxsAnksuksa dEifu;ksa ds fpës vkxs fn;s x;s gSA 

Particular  X Ltd. Y Ltd. 

I. EQUITY AND LIABILIITES  

(1) Shareholders’ Fund: 

(a)  Share Capital  

Issued & Subscribed:Rs.10 Equity Share Capital 

(b)  Reserve and Surplus                                                                    

Reserve                                                                        

(2) Non-Current Liabilities 

(3) Current Liabilities  

` 

 

 

3,75,000 

 

1,00,000 

- 

 

` 

 

 

3,00,000 

 

12,500 

- 

 



 
 

(a)  Trade Payables 

Sundry Creditors 

Bills Payable                                                                                                                            

 

1,50,000 

25,000 

 

50,000 

37,000 

Total 6,50,000 4,00,000 

                                                                                             

II. ASSETS: 

(1)   Non-Current Assets:  

 (a)  Fixed Assets:  

        (i)  Tangible: 

               Land and Building  

               Plant and Machinery 

     (2)  Current Assets  

            (a)  Inventories: Stock  

            (b)  Trade Receivables:  

                   Sundry Debtors                                                               

                   Bills Receivable                                                                             

            (c)  Cash and Cash Equivalents:  Cash at Bank                                                                                                                              

 

Total 

 

 

 

 

 

1,00,000 

1,12,500 

 

1,75,000 

 

2,00,000 

37,500 

25,000 

 

 

 

 

 

50,000 

37,500 

 

75,000 

 

1,00,000 

50,000 

87,500 

6,50,000 4,00,000 

  

Stock of X Ltd. includes Rs20,000 purchased from Y Ltd. on which Y Ltd. made 20% 

profit on sales. Pass necessary Journal entries in the books of XY Ltd. and also draft the 

Balance Sheet of XY Ltd.  

,Dl fy- ds LVkWd esa #- 20]000 dk eky okbZ fy- ls Ø; fd;k x;k lfEefyr gS ftl ij okbZ fy- foØ; ij 

20 : ykHk 'kkfey djds nsrk gSA 

 ,Dl okbZ fy- dh iqLrdksa esa tuZy izfof"V dhft, o ,Dl okbZ fy- dk fpëk Hkh cukb,A 

 

4. Explain the meaning of Human Resource Accounting and also explain its  importance. 
 Ekuo lalk/ku ys[kkadu dk vFkZ crkb;s rFkk blds egRo dks Hkh le>kb;sA 

 

Section- C 

5.  B Limited went into voluntary liquidation on 31
st
 March, 2020. The balance sheets in its 

books on that day were: 

 31 ekpZ 2020 dks ch fyfeVsM us LosPNk ls lekiu izkjEHk fd;kA ml fnu mudk fpëk fuEufyf[kr FkkA 

 Particular  Amount  

I. EQUITY AND LIABILIITES  

(1) Shareholders’ Fund: 

(a)  Share Capital: Issued & Subscribed Capital: 

5,000, 10% Preference Shares of Rs100 each in fully paid  

5,000 Equity Shares of  Rs100 each Rs90 paid 

5,000 Equity Shares of Rs100 eachRs 80 paid               

      (B)  Reserve and Surplus:                                                                    

Statement of Profit & Loss                                                                       

(2) Non-Current Liabilities: 

Long-Term Borrowings 

Secured Loan: 12% Mortgage loan on building  

` 

 

 

5,00,000 

4,50,000 

4,00,000 

 

(3,70,000) 

 

 

1,00,000 



 
 

      6% Debentures (secured by floating charge)  

(3) Current Liabilities 

Trade Payables Preferential Creditors 

Trade Creditors 

2,00,000 

 

50,000 

3,00,000 

Total 16,30,000 

II. ASSETS  

1.   Non-Current Assets  

 (a)  Fixed Assets:  

  (i) Tangible: Building   

Machinery 

 (ii) Other Non-Current Assets: Preliminary Expenses   

2.  Current Assets: 

Inventories: Stock  

Trade Receivables Receivables: Sundry Debtors  

Short-term Loans & Advances: Loans (Short-term)                                                                                       

Cash and Cash Equivalents : Cash at Bank 

 

 

 

2,00,000 

6,00,000 

30,000 

 

3,00,000 

4,00,000 

60,000 

40,000 

Total 16,30,000 

 

Interest on 12% mortgage loan and 6% debentures has been paid up to 31
st
 March, 2020. 

The liquidator is entitled to a commission of 3% on actual cash realized by him excepting 

cash at Bank and 2% on amounts distributed among Equity Shareholders. The dividend 

on Preference Shares was in arrears for two year. The arrears are payable automatically 

on liquidation. The assets realized by the liquidators are as follows:  

Building 50% over book values, Machinery 20% less. Stock 5% less and Sundry Debtors 

10% less than the book values. Loans were wholly bad. The expenses of liquidation 

amounted to Rs13,250. Building was sold by the liquidator. Assuming the payment was 

made on 30
th

 June, 2020 prepare liquidator’s final statement of a/c.  

12 izfr”kr cU/kd _.k ,oa 6 izfr”kr _.k i=ksa ij C;kt dk Hkqxrku 31 ekpZ 2020 rd fd;k x;k gSA 

fuLrkjd dks okLrfod olwy dh xbZ jkf”k ij cSad esa jksdM+ dks NksM+dj 3 izfr”kr deh”ku feyrk gS vkSj 2 

izfr”kr deh”ku ml jkf”k ij feyrk gS tks bZfDoVh va”k/kkfj;ksa dks ck¡Vh tkrh gSA vf/keku va”kksa ij ykHkka”k nks 

o"kksZ dk cdk;k gSA lekiu ij cdk;k ykHkka”k Lor% gh Hkqxrku djuk gSA fuLrkjd }kjk lEifÙk;ksa ls fuEukafdr 

olwyh dh xbZA 

Hkou ls iqLrdewY; ls 50 izfr”kr vf/kd] e”khujh ij 20 izfr”kr de] jgfr;k ij 5 izfr”kr de rFkk fofo/k 

nsunkjksa ls iqLrdewY;ksa ls 10 izfr”kr deA _.k iw.kZ :i ls Mwcr jgsA lekiu O;; #- 13]250 gq,A Hkou 

fuLrkjd }kjk csp fn;k x;kA ;g ekurs gq, fd Hkqxrku 30 twu] 2020 dks dj fn;s x;s] fuLrkjd dk vfUre 

fooj.k [kkrkcukb;sA 

       

6. What do you understand by social accounting? Explain its importance also.  

 Lkekftd ys[kkdau ls vki D;k le>rs gS? blds egRo dks Hkh le>kb;sA 

______ 

 



S.S. Jain Subodh P.G. College, Jaipur 
 
                                                 B.Com (Hons) ABST Semester VI 
 

Paper Project Planning and Management 
 

Assignment March 2025 
 
Instructions to Students: Assignment consist of 6 questions. Students are required to attempt 3 
Questions (1 from each Unit) Write questions in at least 500 Words with good presentation 
 

                  :             6                 3                                           )  

                     500               औ                             

 

 
Questions from Section A:4 Marks 
 

 

     A       4     

 

Questions from Section B: 3 Marks 
 

     B       3     

 

Questions from Section C: 3 Marks 
 

     C       3     

 

             Maximum Marks (MM): 10 
 

        (MM) 10 

 

 
Unit I 

 
 
Q1 .What is pre-feasibility analysis? Explain in brief the kind of information and 
estimates included in pre-feasibility report (PFR). 

    -                   ?                                                    

                            

 

OR 
 

Q2. X Ltd. is considering for purchase of a machine. There are two possible machines 
which will produce the additional output. Details of these machines are as s follows: 

                                                                   ,           

                                                 : 

 
 



 

                                                                                           
                                                                                      Machine X           Machine Y 

           Rs                Rs 

Capital Cost       60,000  60,000 

Sales “at Standard price”     1,00,000             80,000 

Cost: Labour       10,000     6,000 

Materials        8,000              10,000 

Factors overheads      12,000   10,000 

Administration Costs                 4,000     2,000 

Selling Cost        2,000                2,000 

Expected Life in Years          2                   3 

1.The costs shown above relate to annual expenditure resulting from each machine. 

ऊ                                                                  

2. Sales are expected to continue at the rates shown for each year for the full life of 
each Machine. 

                                                                                   

3. Tax to be paid may be assumed at 50% of net earning. 

                                     50%                  

4. The appropriate rate of interest for converting to present values may be taken at 10% 

                                                 10%               
 

On the basis of the facts given above show the most profitable investment by the 
following methods: (a) Pay-back Period; (b) Return on Investment and (c) Net Present 
value  

                                                                                -( ) 

                 ( )                ,     ( )                   
 

 

UNIT II 

 

Q3..  Write short notes on the following: 
(a) Role and functions of a project manager. 
(b) Responsibilities of a project manager. 
(c) Project manager vis-a-vis line manager. 
 (d) Linear Responsibility Matrix (LRM).                            
 

                                : 

(a)                                     

(b)                            

(c)                                    

d)                      (  .  .  .) 

 
OR 

 



Q4. Explain the concept of 'shadow pricing’? Discuss the sources of shadow prices     

           '                                                              

 

UNIT III 

 

     

Q5. Given the following information 

                   : 
 

Activity 0- 1 1- 2 1- 3 2- 4 2- 5 3-4   3  -6 4- 7 5- 7 6- 7 

Duration (in days) 2 8 10 6 3 3 7 5 2 8 

 

 

(i) (Draw the arrow diagram.)                  

(ii)  (Identify critical path and find the total project duration.) 

                                                     

iii) (Determine total, free and independent floats.) 

                                 

 
OR 

 

 

Q6. Write short notes on the following: 
(i) Decision Support System 

(ii) Project Management Information System and Different Levels of Management 

                                - 

(i)                   

(ii)                                              
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Attempt any three out of six (1 from each unit). 

 Unit-I  

Q1. Explain the importance of Business Ethics.  

व्यावसायिक नैयिकिा का महत्व समझाइिे। 

Q2. Discuss the difference between ethical and unethical business practices with example. 

उदाहरण सयहि नैयिक और अनैयिक व्यावसायिक प्रथाओ ंके बीच अंिर पर चचाा करें। 
 

Unit-II 

Q3. Discuss the importance of Corporate Social Responsibility. 

कॉपोरेट सामायिक उत्तरदायित्व के महत्व पर चचाा करें। 

Q4. Explain the gandhiji’s doctrine of satya. .  

गांधीिी के सत्य के यसद्ांि की व्याख्या करें। 
  

 Unit-III 

Q5. Explain the need of corporate governance. 

कॉपोरेट प्रशासन की आवश्यकिा को समझाइिे। 

Q6. Write a detailed note on International Corporate Governance Practices. 

अंिरााष्ट्र ीि कॉपोरेट प्रशासन प्रथाओ ंपर एक यवसृ्ति नोट यिखें। 
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Economy of Rajasthan 

Assignment March 2025 
Instructions to Students: Assignment consists of 6 questions. Students are required to attempt 3 

Questions (1 from each Unit). Write questions in at least 500 Words with good presentation. 

छात्रों के लऱए निदेश: असाइिमेंट में 6 प्रश्ि हैं। छात्रों को 3 प्रश्िों का उत्तर देिा आवश्यक है (प्रत्येक 

इकाई से 1 प्रश्ि)। प्रत्येक उत्तर में कम से कम 500 शब्द होिे चाहहए और इसे अच्छी प्रस्तुनत के साथ 

लऱखें। 
 

Unit 1 

Q. 1: What are the different physical regions of Rajasthan? How do climate, vegetation, and soil 

differences affect farming in these regions? 

राजस्थाि के अऱग-अऱग भौनतक ऺेत्र कौि-कौि से हैं? जऱवायु, विस्पनत और लमट्टी में अॊतर 
कैस ेखेती को प्रभाववत करता है? 

Q. 2: Why is animal husbandry important for Rajasthan’s economy? What problems do people 

face in sheep and goat farming, and what steps has the government taken to help them? 

राजस्थाि की अथथव्यवस्था में पशुपाऱि क्यों महत्वपूर्थ है? भेड़ और बकरी पाऱि में कौि-कौि सी 
समस्याएॉ आती हैं और सरकार िे उिकी मदद के लऱए क्या कदम उठाए हैं? 

 

Unit 2 

Q. 3: How have small and cottage industries grown in Rajasthan? How does the government 

support these industries with money and policies? 

राजस्थाि में छोटे और कुटीर उद्योग कैसे बढे हैं? सरकार इि उद्योगों को पैस ेऔर िीनतयों से कैस े

मदद करती है? 

Q. 4: How does tourism help Rajasthan’s economy? What are the major problems in the tourism 

industry, and what can be done to improve it? 

पयथटि राजस्थाि की अथथव्यवस्था में कैसे मदद करता है? पयथटि उद्योग की मुख्य समस्याएॉ 
क्या हैं, और इसे बेहतर बिािे के लऱए क्या ककया जा सकता है? 

 

Unit 3 

Q. 5: What are the main problems of poverty and unemployment in Rajasthan? What steps have 

been taken to solve these issues? 

राजस्थाि में गरीबी और बेरोजगारी की मुख्य समस्याएॉ क्या हैं? इि समस्याओॊ को हऱ करिे के 

लऱए क्या कदम उठाए गए हैं? 

Q. 6: What are the main minerals found in Rajasthan? How do they help the economy, and what 

difficulties come in mining and using them properly? 

राजस्थाि में कौि-कौि से खनिज लमऱत ेहैं? व ेअथथव्यवस्था में कैसे मदद करते हैं, और उिके 

खिि और सही इस्तेमाऱ में क्या मुश्श्कऱें आती हैं? 
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